NONLINEAR ERGODIC THEOREMS FOR A NONEXPANSIVE SEMIGROUP IN UNIFORMLY CONVEX BANACH SPACES

KEUN SAING PARK, KWANG PAK PARK AND JONG KYU KIM

1. Introduction

Baillon ([1]) proved the first nonlinear ergodic theorem for nonexpansive mappings: Let C be a closed convex subset of a Hilbert space H and T a nonexpansive mapping of C in to itself. If the set F(T) of fixed points of T is nonempty, then for $x \in C$, the Cesâro means

$$S_n x = \frac{1}{n} \sum_{k=0}^{n-1} T^k x$$

converges weakly as $n \to \infty$ to some $p \in F(T)$.

A corresponding result for a strongly continuous one parameter semigroup of nonexpansive mappings S(t), $t \ge 0$ was proved soon after Baillon's work by Baillon and Brézis ([3]), i.e.,

$$A_{\lambda}x = \frac{1}{\lambda} \int_{0}^{\lambda} S(t)xdt$$

converges weakly as $\lambda \to \infty$ to a common fixed point of S(t), $t \ge 0$.

These theorems were extended to Banach spaces by

Baillon ([2]), Bruck ([4]), Hirano ([7]), Reich ([11]), and Takahashi ([12]). By the way, above results are the cases for existence of weak limit of Cesàro means. From the example of Genel and Lindenstrauss ([6]), it follows that there exists a nonexpansive mapping such that the Cesàro mean does not converge strongly. Therefore, Pazy ([10]), Kim and Ha ([8]), and Kobayashi and Miyadera ([9]) give some further assumptions on the mapping in order to assure the strong convergence of the Cesàro means.

In this paper, we prove the existence of strong limit of the Cesaro means

$$A_tS(h)x = \frac{1}{t} \int_0^t S(s+h)xds$$

uniformly in $h \ge 0$.

2. Preliminaries and notations

Let C be a closed convex subset of a uniformly convex Banach space X. A family $S=\{S(t): t \geq 0\}$ of mappings from C into itself is called a nonexpansive semigroup on C if

- (1) S(t+s) = S(t)S(s) for all $t, s \ge 0$,
- (2) S(0) = I (indentity),
- (3) $\lim_{t\to 0+} S(t)x = x$ for every $x \in C$,
- (4) $||S(t)x-S(t)y|| \le ||x-y||$ for all $x, y \in C$ and $t \ge 0$.

The set of common fixed points of S(t), $t \ge 0$ will be denoted by $F(S) = \bigcap_{t \ge 0} F(S(t))$. The Cesaro mean of S(t),

 $t \ge 0$ will be denoted by

$$A_{\lambda}x = \frac{1}{\lambda} \int_{0}^{\lambda} S(t)xdt.$$

It is easy to see that

$$A_{t}S(h)x = \frac{1}{t} \int_{0}^{t} \left\{ \frac{1}{s} \int_{0}^{s} S(h+\xi+\eta)xd\eta \right\} d\xi$$
$$+ \frac{1}{ts} \int_{0}^{s} (s-\eta) \left\{ S(h+\eta)x - S(h+t+\eta)x \right\} d\eta$$

for t, s > 0 and $h \ge 0$.

3. Main results

Now, we start with the following crucial lemmas to prove Theorem 3.4.

LEMMA 3.1. Let C be a closed convex subset of a uniformly convex Banach space X and $\{(t): t \ge 0\}$ a nonexpansive semigroup on C. Suppose that $\lim_{t \to 0} ||S(t)x - S(t+i)x||$ exists uniformly in i > 0. Then we have

$$\lim_{s,t\to\infty} \left\| \frac{1}{2} (A_t S(t+h)x + A_s S(s+h)x) - S(h) \left(\frac{1}{2} A_t S(t)x + \frac{1}{2} A_s S(s) x \right) \right\| = 0$$

uniformly in h>0. In particular,

$$\lim_{t\to\infty}||A_tS(t+h)x-S(h)A_tS(t)x||=0$$

uniformly in h > 0.

PROOF. Let $f \in F(S)$ and r > 0 with $||x-f|| \le r$. Define the set $D = \{z \in X: ||z-f|| \le r\} \subset C$ and U(t) = S(t)|D

, the restriction of S(t) to D. Then D is bounded closed convex and U(t) a nonexpansive semigroup on D. Hence, by Theorem 2.1 in [5] (cf. [4] Lemma 1.1.), there exists a strictly increasing, continuous convex function $\gamma: R^+ \longrightarrow R^+$ with $\gamma(0) = 0$ such that

$$\left\| U(h) \left(\sum_{i=1}^{k} \lambda_{i} x_{i} \right) - \sum_{i=1}^{k} \lambda_{i} U(h) x_{i} \right\|$$

$$\leq \gamma^{-1} \left(\max_{1 \leq 1, i \leq k} \{ ||x_{i} - x_{j}|| - ||U(h) x_{i} - U(h) x_{i}|| \} \right)$$

for any $\lambda_1, \lambda_2, \lambda_3$, \cdots , $\lambda_k \ge 0$ with $\sum_{i=0}^k \lambda_i = 1$, any x_1, x_2, x_3, \cdots , $x_k \in D$ and any $k \ge 1$, h > 0. Consequently

$$\begin{split} & \left\| S(h) \left(\sum_{i=0}^{n-1} \lambda_{i} x_{i} + \sum_{i=0}^{m-1} \mu_{i} y_{i} \right) - \left(\sum_{i=0}^{n-1} \lambda_{i} S(h) x_{i} + \sum_{i=0}^{m-1} \mu_{i} S(h) y_{i} \right) \right\| \\ & \leq \Upsilon^{-1} \left(\max \left\{ ||x_{i} - x_{j}|| - ||S(h) x_{i} - S(h) x_{j}||, \right. \\ & \left. ||x_{i} - y_{p}|| - ||S(h) x_{i} - S(h) y_{p}||, \right. \\ & \left. ||y_{p} - y_{q}|| - ||S(h) y_{p} - S(h) y_{s}|| : \\ & 0 \leq i, j \leq n-1, 0 \leq p, q \leq m-1 \right\}) \end{split}$$

for any $\lambda_i, \mu_i \geq 0$ with $\sum_{i=0}^{n-1} \lambda_i + \sum_{i=0}^{m-1} \mu_i = 1$, any $x_i, y_i \in D$ and $n, m \geq 1$, h > 0. Using this inequality with $\lambda_i = \frac{1}{2t}$, $x_i = S(t+i)x$, $\mu_i = \frac{1}{2s}$, $y_i = S(s+i)x$, and if we shall have the integral with respect to i instead of the summation. Then we have

$$\left\| S(h) \left\{ \int_{0}^{t} \frac{1}{2t} S(t+i)x di + \int_{0}^{s} \frac{1}{2s} S(s+i)x di \right\} - \left\{ \int_{0}^{t} \frac{1}{2t} S(h+t+i)x di + \int_{0}^{s} \frac{1}{2s} S(h+si)x di \right\} \right\|$$

$$\leq 7^{-1}(\max\{||S(t+i)x-S(t+j)x|| \\ -||S(h+t+i)x-S(h+t+j)x||, \\ ||S(t+i)x-S(s+p)x|| \\ -||S(h+t+i)x-S(h+s+p)x||, \\ ||S(s+p)x-S(s+q)x|| \\ -||S(h+s+p)x-S(h+s+q)x||; \\ 0 \leq i, j \leq t, \quad 0 \leq p, q \leq s\})$$

for any $s, t \ge 0$ and h > 0.

For any $\epsilon > 0$ choose $\delta > 0$ such that $\gamma^{-1}(\delta) < \epsilon$. Since $\lim_{t \to \infty} ||S(t)x - S(t+i)x||$ exists uniformly in i > 0, there exists $t_0 \ge 0$ such that

$$\beta(i) \leq ||S(t)x - S(t+i)x|| < \beta(i) + \delta$$

for every i > 0 and $t \ge t_0$, where $\beta(i) = \lim_{t \to \infty} ||S(t) - S(t+i)x||$. Hence if $s, t \ge t_0$ then

$$||S(t+i)x - S(s+j)x|| - ||S(h+t+i)x - S(h+s+j)x|| < \beta(|s+j-t-i|) + \delta - \beta(|s+j-t-i|) = \delta$$

for all $i, j \ge 0$. Consequently, we obtain that if $s, t \ge t_0$ then

$$\left| S(h) \left\{ \int_0^t \frac{1}{2t} S(t+i)x di + \int_0^s \frac{1}{2s} S(s+i)x di \right\} - \left\{ \int_0^t \frac{1}{2t} S(h+t+i)x di + \int_0^s \frac{1}{2s} S(h+s+i)x di \right\} \right|$$

$$\leq \gamma^{-1}(\delta) < \varepsilon$$

for any h>0. Therefore, the result holds true. Furthermore, putting s=t, we have

$$\lim_{t\to\infty} ||A_t S(t+h)x - S(h)A_t S(t)x|| = 0$$

uniformly in h > 0.

LEMMA 3.2. Let X, C and $\{S(t): t \ge 0\}$ be as in Lemma 3.1. Let $x \in C$ and $F(S) \ne \phi$. If

$$\lim_{t\to\infty} ||S(t)x-S(t+i)x||$$

exists uniformly in i > 0, then $\{||A_iS(t)x-f||\}$ is convergent for every $f \in F(S)$.

PROOF. Let $f \in F(S)$ and

$$\alpha_t = \sup_{h \ge 0} ||A_t S(t+h) x - S(h) A_t S(t) x||$$

for $t \ge 0$. Since

$$A_{t+s}S(t+s)x = \frac{1}{t+s} \int_{0}^{t+s} \{A_{t}S(s+t+\eta)x - S(s+\eta)A_{t}S(t)x\} d\eta$$

$$+ \frac{1}{t+s} \int_{0}^{t+s} S(s+\eta)A_{t}S(t)x d\eta$$

$$+ \frac{1}{t(t+s)} \int_{0}^{t} (t-\eta)\{S(s+t+\eta)x - S(2(t+s)+\eta)x\} d\eta,$$

$$||A_{t+s}S(t+s)x - f|| \leq \alpha_{t} + \frac{1}{t+s} \int_{0}^{t+s} ||S(s+\eta)A_{t}S(t)x - f|| d\eta$$

$$+ \frac{1}{t(t+s)} \int_{0}^{t} (t-\eta)||S(s+t+\eta)x - S(2(t+s)+\eta)x|| d\eta$$

$$\leq \alpha_{t} + ||A_{t}S(t)x - f|| + \frac{t}{2(t+s)} ||x - S(t+s)x||$$

$$\leq \alpha_{t} + ||A_{t}S(t)x - f|| + \frac{t}{t+s} ||x - f||$$

for all t, $s \ge 0$. Letting $s \to \infty$, we have

$$\lim_{s\to\infty}\sup||A_sS(s)x-f||\leq \alpha_t+||A_tS(t)x-f||$$

for all $t \ge 0$. Since $\lim_{t \to \infty} \alpha_t = 0$,

$$\lim_{s\to\infty} \sup ||A_sS(s)x-f|| \leq \liminf_{t\to\infty} ||A_tS(t)x-f||.$$

Hence $\{||A_tS(t)x-f||\}$ is convergent for every $f \in F(S)$.

PROPOSITION 3.3. Let X, C and $\{S(t): t \ge 0\}$ be as in Lemma 3.1. Let $x \in C$ and $F(S) \ne \phi$. If

$$\lim_{t\to\infty}||S(t)x-S(t+k)x||$$

exists uniformly in k > 0, then there exists an element $p \in F(S)$ such that

$$\lim_{t\to\infty} A_t S(t+h)x = p$$

uniformly in $h \ge 0$.

PROOF. Choose $f \in F(S)$ and set $u_t = A_t S(t) x - f$ for each $t \ge 0$. By Lemma 3.2, put $\lim_{t \to \infty} ||u_t|| = d$. Since $\lim_{t \to \infty} ||u_{t+s} - u_t|| = 0$ for $s \ge 0$, we have

$$\lim_{t\to\infty}||u_{t+h}+u_t||=2d$$

for every $h \ge 0$.

Now, we show that $\{A_iS(t)x\}$ is strongly convergent to an element of F(S). Put

$$v(t,k) = \frac{1}{t(t+k)} \int_0^t (t-\eta) ||S(k+t+\eta)x - S(2(t+k)+\eta)x||d\eta,$$

then we have

$$A_{t+k}S(t+k)x = \frac{1}{t+k} \int_0^{t+k} A_t S(t+k+\eta) d\eta + v(t,k)$$

and

$$||v(t,k)|| \leq \frac{t}{t+k} ||x-f||.$$

Hence,

$$\begin{aligned} ||u_{t+k} + u_{s+k}|| &= ||A_{t+k} S(t+k) x + A_{s+k} S(s+k) x - 2f|| \\ &= \left\| \frac{1}{t+k} \int_0^{t-k} \left\{ A_t S(t+k+\eta) x + A_s S(s+k+\eta) x - 2f \right\} d\eta \right\| \\ &+ \frac{t-s}{(t+k)(s+k)} \int_0^{t+k} \left\{ A_s S(s+k+\eta) - f \right\} d\eta \\ &+ \frac{1}{s+k} \int_{t+k}^{s+k} \left\{ A_s S(s+k+\eta) - f \right\} d\eta + v(t,k) + v(s,k) \\ &\leq \frac{2}{t+k} \int_0^{t+k} \left| \left| \frac{1}{2} (A_t S(t+k+\eta) x + A_s S(s+k+\eta) x) - f \right| \right| d\eta \\ &+ \frac{2(s-t)}{s+k} ||x-f|| + \left(\frac{t}{t+k} + \frac{s}{s+k} \right) ||x-f|| \end{aligned}$$

for all $s \ge t \ge 0$ and $k \ge 0$. On the other hand, put

$$\alpha_{t,s} = \sup_{h \ge 0} \left\| \frac{1}{2} (A_t S(t+h) x + A_s S(s+h) x) - S(h) \left(\frac{1}{2} A_t S(t) x + \frac{1}{2} A_s S(s) x \right) \right\|$$

then we have

$$\left\| \frac{1}{2} (A_t S(t+k+\eta)x + A_s S(s+k+\eta)x) - f \right\|$$

$$\leq \alpha_{t,s} + \left\| \frac{1}{2} (A_t S(t)x + A_s S(s)x) - f \right\|.$$

Therefore, we obtain

$$||u_{t+k}+u_{s+k}|| \le 2\alpha_{t,s}+||u_t+u_s||+\frac{2(s-t)}{s+k}||x-f|| + \left(\frac{t}{t+k}+\frac{s}{s+k}\right)||x-f||$$

for all $s \ge t \ge 0$ and $k \ge 0$. Letting $k \to \infty$, we have

$$2d \leq 2\alpha_{t,s} + ||u_t + u_s|| \leq 2\alpha_{t,s} + ||u_t|| + ||u_s||$$

for every $t, s \ge 0$. Since $\lim_{t,s\to\infty} \alpha_{t,s} = 0$ by Lemma 3.1, we have that $\lim_{t,s\to\infty} ||u_t + u_s|| = 2d$. By uniform convexity of X and $\lim_{t\to\infty} ||u_t|| = d$, we obtain

$$\lim_{t,s\to\infty} ||A_tS(t)x - A_sS(s)x|| = \lim_{t,s\to\infty} ||u_t - u_s|| = 0.$$

Hence $\{A_tS(t)x\}$ converges strongly. Put

$$p = \lim_{t \to \infty} A_t S(t) x.$$

Since for all $h \ge 0$,

$$||A_{t}S(t)x - S(h)A_{t}S(t)x|| \le \frac{2||x - f||}{t} + ||A_{t}S(t + h)x - S(h)A_{t}S(t)x||.$$

Letting $t \to \infty$ and hence $p \in F(S)$ from Lemma 3.1. Since

$$\sup_{h \ge 0} ||A_{t}S(t+h)x - p|| \le \sup_{h \ge 0} ||A_{t}S(t+h)x - S(h)A_{t}S(t)x|| + ||S(h)A_{t}S(t)x - p|| \le \sup_{h \ge 0} ||A_{t}S(t+h)x - S(h)A_{t}S(t)x|| + ||A_{t}S(t)x - p||.$$

Letting $t \to \infty$, then $\{A_t S(t+h)x\}$ converges strongly to $p \in F(S)$ uniformly in $h \ge 0$.

Now, we conclude this section with consequence of our previous results.

THEOREM 3.4. Let C be a closed convex subset of a uniformly convex Banach space X and $\{S(t): t \ge 0\}$

nonexpansive semigroup on C. Let $x \in C$ and $F(S) \neq \phi$. If $\lim_{t \to \infty} ||S(t)x - S(t+h)x||$ exists uniformly in h > 0, then $\{A_tS(h)x\}$ converges strongly to a common fixed point $p \in F(S)$ uniformly in $h \ge 0$.

PROOF. By virture of Proposition 3.3, there exists an element $p \in F(S)$ such that $\lim_{t\to\infty} A_t S(t+k)x = p$ uniformly in $k \ge 0$. Therefore, for any $\varepsilon > 0$ there exists $t_0 > 0$ such that

$$||A_{t_0}S(t_0+k)x-p||<\varepsilon$$

for all $k \ge 0$. Since

$$A_{t}S(h)x = \frac{1}{t} \int_{0}^{t} A_{t_{0}}S(h+\eta)xd\eta + \frac{1}{tt_{0}} \int_{0}^{t_{0}} (t_{0}-\eta)\{S(\eta+h)x - S(\eta+h+t)x\}d\eta,$$

if $t \ge t_0$ then

$$\begin{split} ||A_{t}S(h)x-p|| &\leq \frac{1}{t} \int_{0}^{t} ||A_{t_{0}}S(h+\eta)-p||d\eta + \frac{t_{0}}{t}||x-p|| \\ &\leq \frac{1}{t} \int_{0}^{t_{0}} ||A_{t_{0}}S(h+\eta)x-p||d\eta \\ &+ \frac{1}{t} \int_{t_{0}}^{t} ||A_{t_{0}}S(h+\eta)x-p||d\eta + \frac{t_{0}}{t}||x-p|| \\ &\leq \frac{1}{t} \int_{0}^{t_{0}} ||A_{t_{0}}S(h+\eta)-p||d\eta + \varepsilon - \frac{t_{0}\varepsilon}{t} \\ &+ \frac{t_{0}}{t} ||x-p|| \end{split}$$

for all $h \ge 0$. Hence we have $\lim_{t\to\infty} A_t S(h) x = p$.

References

- J.B. Baillon, Un théorème de type ergodic pour les contractions nonlineaires dans un espace de Hilbert, C.R. Acad. Sci. Paris 280 (1975), 1511-1514.
- Comportement asymptotique des itérés de contractions nonlineaires dans les espaces L^p, C. R. Acad. Paris 286(1978), 157-159.
- 3. _____ and H. Brezis, Une remarque sur le comportement asymptotique des semigroup nonlineaires, Houston J. Math. 2(1976), 5-7.
- R.E. Bruck, A simple proof of the mean ergodic theorem for nonlinear contractions in Banach spaces, Israel J. Math. 32(1979), 107-116.
- 5. ______, On the convex approximation property and the asymptotic behavior of nonlinear contractions in Banach spaces, Israel J. Math. 38(1981), 304-314.
- A. Genel and J. Lindenstrauss, An example concerning fixed points, Israel J. Math. 22(1975), 81-86.
- N. Hirano, A proof of the mean ergodic theorem for nonexpansive mappings in Banach spaces, Proc. Amer. Math. Soc. 78(1980), 361-365.
- 8. J. K. Kim and K. S. Ha, Ergodic theorems for nonexpansive semigroups in Hilbert spaces, P. N. Univ. Journal Science 34(1982), 19-21.
- K. Kobayasi and I. Miyadera, On the strong convergence of the Cesaro mean of contractions in Banach spaces, Proc. Japan Acad. 56(1980), 245-249.
- A. Pazy, On the asymptotic behavior of iterates of nonexpansive mappings in Hibert spaces, Israel J. Math. 26(1977), 197-204.
- S. Reich, Weak convergence theorems for nonexpansive mappings in Banach spaces, J. Math. Anal. Appl. 67(1979),

150

274-276.

12. W. Takahashi, Fixed point theorems for families of nonexpansive mappings on unbounded sets, J. Math. Soc. Japan, 36(1984), 534-553.

Gyeongsang National University Jinju 660-300 Korea

and

Kyungnam University Masan 630-701 Korea

Received February 10, 1988